
 
 

 

Corrections  Savoir Fi.2  

 
 

Corrigé Exercice 6   

 

1)     𝑓 𝑡 𝑑𝑡
1

0
= 𝐺 1 − 𝐺 0 =   3 − 1 𝑒1 −   0 − 1 𝑒0 = 𝟐𝒆 + 𝟏 

 

2)   a. 𝐹′ 𝑥 = 2𝑥 − 2 ×
1

𝑥
=

2𝑥2−2

𝑥
=

2 𝑥2−1 

𝑥
= 𝑓(𝑥)   donc 𝐹′ = 𝑓 et 𝐹 est bien une primitive de 𝑓 

      b.  𝑓 𝑡 𝑑𝑡
𝑒

1
= 𝐹 𝑒 − 𝐹 1 =  𝑒2 − 2 ln 𝑒  −  1 − 2 ln 1  = 𝑒2 − 2 − 1 + 0 = 𝒆𝟐 − 𝟑 

 

3) a. 𝐹′ 𝑥 = 2𝑎𝑥 ln 𝑥 + 𝑎𝑥2 ×
1

𝑥
+ 2𝑏𝑥 = 2𝑎𝑥 ln 𝑥 +  𝑎 + 2𝑏 𝑥 = 𝑓 𝑥   ⇒      

2𝑎 = 1
𝑎 + 2𝑏 = 0

  ⇔   
𝑎 =

1

2

𝑏 = −
1

4

    

    Donc  𝑭 𝒙 =
𝟏

𝟐
𝒙𝟐 𝐥𝐧 𝒙 −

𝟏

𝟒
𝒙𝟐  

 

b.   𝑓 𝑡 𝑑𝑡
𝑒

1
=  

1

2
𝑡2 ln 𝑡 −

1

4
𝑡2 

1

𝑒

=  
1

2
𝑒2 ln 𝑒 −

1

4
𝑒2 −  

1

2
× 12 ln 1 −

1

4
× 12 =

1

2
𝑒2 −

1

4
𝑒2 +

1

4
=

𝟏

𝟒
(𝒆𝟐 + 𝟏) 

 
 
 

Corrigé Exercice 7   
 

1)  

 

 

 

 

𝒜 =   2 −
4

𝑥
  𝑑𝑥

2

1
=  2𝑥 − 4 ln 𝑥 1

2  

      =  2 × 2 − 4 ln 2 −  2 × 1 − 4 ln 1  
      = 4 − 4 ln 2 − 2 + 0 = 𝟐 − 𝟒 𝐥𝐧𝟐 

ℬ =  (2𝑡2 − 1) 𝑑𝑡
1

0
 =  

2

3
𝑡3 − 𝑡 

0

1

  

      =  
2

3
× 13 − 1 −  

2

3
× 03 − 0  

      =
2

3
− 1 = −

𝟏

𝟑
 

𝒞 =   1 + 𝑢 2 𝑑𝑢
2

−1
=  

 1+𝑢 3

3
 
−1

2

  

      =  
 1+2 3

3
 −  

 1−1 3

3
  

      = 9 − 0 = 𝟗 

𝒟 =  𝑒3𝜆  𝑑𝜆
3

0
=  

1

3
𝑒3𝜆 

0

3

  

      =  
1

3
𝑒3×3 −  

1

3
𝑒3×0  

      =
1

3
𝑒9 −

1

3
=

𝟏

𝟑
 𝒆𝟗 − 𝟏  

𝒠 =  
1

𝑥+1
 𝑑𝑥

𝑒−1

0
=  ln(𝑥 + 1) 0

𝑒−1  

      =  ln(𝑒 − 1 + 1) −  ln(0 + 1)  
      = ln 𝑒 − ln 1 = 𝟏 

𝒡 =  sin(2𝑥)  𝑑𝑥
𝜋

2
𝜋

4

=  −
1

2
cos(2𝑥) 𝜋

4

𝜋

2
  

      =  −
1

2
cos(2 ×

𝜋

2
) −  −

1

2
cos(2 ×

𝜋

4
)  

     = −
1

2
cos 𝜋 +

1

2
cos

𝜋

2
= −

1

2
× (−1) + 0 =

𝟏

𝟐
 

𝒢 =   
𝑥3

2
−

2

𝑥3  𝑑𝑥
−1

−2
=  

𝑥4

8
+

1

𝑥2
 
−2

−1

    

      =  
 −1 4

8
+

1

 −1 2 −  
 −2 4

8
+

1

 −2 2  

      =
1

8
+ 1 −

16

8
−

1

4
= −

𝟗

𝟖
 

𝒣 =   1 +
1

2
𝑒−𝑡  𝑑𝑡

0

−1
=  𝑡 −

1

2
𝑒−𝑡 

−1

0

  

      =  0 −
1

2
𝑒0 −  −1 −

1

2
𝑒−(−1)  

      = −
1

2
+ 1 +

1

2
𝑒 =

𝟏

𝟐
 𝟏 + 𝒆  

𝒤 =   
2

 𝑥
+ 𝑥  𝑑𝑥

4

1
=  4 𝑥 +

𝑥2

2
 

1

4

  

      =  4 4 +
42

2
 −  4 1 +

12

2
  

      = 8 + 8 − 4 −
1

2
=

𝟐𝟑

𝟐
 

𝒥 =  
𝑒−𝑥

1+𝑒−𝑥
 𝑑𝑥

1

0
=  − ln 1 + 𝑒−𝑥  0

1   

      =  − ln 1 + 𝑒−1  −  − ln 1 + 𝑒0   

      = − ln  1 +
1

𝑒
 + ln 2 = 𝐥𝐧  

𝟐𝒆

𝒆+𝟏
  



 

2)   𝐼 =  
1

𝑥 ln 𝑥
 𝑑𝑥

𝑒2

𝑒
=  ln ln 𝑥  𝑒

𝑒2
=  ln ln 𝑒2   −  ln ln 𝑒  = ln 2 ln 𝑒 − ln 1 = 𝐥𝐧𝟐 

 
 

Corrigé Exercice 8    
 

On a   3 −
3

1+𝑒−2𝑥 =
3 1+𝑒−2𝑥 −3

1+𝑒−2𝑥 =
3𝑒−2𝑥

1+𝑒−2𝑥  

Donc 

                 3 −
3

1+𝑒−2𝑥  𝑑𝑥
𝑎

0
=  

3𝑒−2𝑥

1+𝑒−2𝑥  𝑑𝑥
𝑎

0
=

 
3

−2
ln 1 + 𝑒−2𝑥  

0

𝑎

 

                                                           

=  −
3

2
ln 1 + 𝑒−2𝑎  —

3

2
ln 1 + 𝑒0 

= −
3

2
ln 1 + 𝑒−2𝑎 +

3

2
ln 2 

                                                          =  
𝟑

𝟐
𝐥𝐧  

𝟐

𝟏 + 𝒆−𝟐𝒂
  

CQFD 
 

 

 
 
 
 
Corrigé Exercice 9  
 

1) 𝐹1 𝑥 =   1 − 𝑒2𝜆  𝑑𝜆
𝑥

1
=  𝜆 −

1

2
𝑒2𝜆 

1

𝑥

=  𝑥 −
1

2
𝑒2𝑥 −  1 −

1

2
𝑒2 = 𝒙 −

𝟏

𝟐
𝒆𝟐𝒙 − 𝟏 +

𝟏

𝟐
𝒆𝟐 

 

𝐹2 𝑥 =  
2

𝑡
 𝑑𝑡

𝑥

𝑒

=  2 ln 𝑡 𝑒
𝑥 =  2 ln 𝑥 −  2 ln 𝑒 = 𝟐(𝐥𝐧𝒙 − 𝟏) 

 

𝐹3 𝑥 =   2𝑎 − 3 𝑑𝑎 =  𝑎2 − 3𝑎 𝑥
1 =  12 − 3 × 1 −  𝑥2 − 3𝑥 = −𝒙𝟐 + 𝟑𝒙 − 𝟐

1

𝑥

 

 
 

2)  a.    𝑎 +
𝑏

𝑥+3
=

𝑎𝑥+3𝑎+𝑏

𝑥+3
=

1−𝑥

𝑥+3
 ⇒    

𝑎 = −1
3𝑎 + 𝑏 = 1

  ⇔    
𝑎 = −1
𝑏 = 4

     
 

b. 𝐺 𝑇 =  
 1−𝑥 

𝑥+3
𝑑𝑥

𝑇

0
=   −1 +

4

𝑥+3
 𝑑𝑥

𝑇

0
=  −𝑥 + 4 ln 𝑥 + 3  0

𝑇 =  −𝑇 + 4 ln 𝑇 + 3  −  0 + 4 ln 3   

    𝑮 𝑻 = −𝑻 + 𝟒 𝐥𝐧  
𝑻+𝟑

𝟑
   

 

c.  
 1−𝑥 

𝑥+3
𝑑𝑥

1

0
= 𝐺 1 = −1 + 4 ln  

1+3

3
 = −𝟏 + 𝟒 𝐥𝐧

𝟒

𝟑
 

 
 

𝒦 =   𝑡2 − 4𝑡  𝑑𝑡
3

−2
=  

𝑡3

3
− 2𝑡2 

−2

3

  

      =  
33

3
− 2 × 32 −  

(−2)3

3
− 2 −2 2  

      = 9 − 18 +
8

3
+ 8 =

𝟓

𝟑
 

ℳ =  
ln 𝑥

𝑥
 𝑑𝑥

𝑒

1
=  

1

𝑥
ln 𝑥  𝑑𝑥

𝑒

1
=  

1

2
 ln 𝑥 2 

1

𝑒

  

      =  
1

2
 ln 𝑒 2 −  

1

2
 ln 1 2  

      =
1

2
× 12 − 0 =

𝟏

𝟐
 


